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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
¥ 47, 108| 109, 438] 53,432] 56,006 -10] 38| -15 57 72l 23] 251 274 0 101 101
HI—TH 685\ 1,444 711 733 -1 2 -1 0 1 3 6 3 0 0 0
FLl T H 554/ 1,330 672 658 -1 -3 1 2 1 —4 1 5 0 0 0
LI =TH 456 1,027 499 528 -2 -2 3 3 0 -2 1 3 -3 1 4
JLbAEH 1,695 3,801 1,882| 1,919 —4 -3 3 5 2 -3 8 11 -3 1 4
Sk —TH 493l 1,010 473 537 -2 0 2 2 0 -2 3 5 0 0 0
. = 773 1,817 878 939 —4 —6 -2 0 2 -2 2 4 -2 0 2
SR —TH 554/ 1,325 635 690 2 5 -1 0 1 5 5 0 1 1 0
S AT H 374 917 440 477 -2 -2 0 0 0 -2 0 2 0 0 0
ot T H 578/ 1,281 623 658 2 3 0 0 0 4 4 0 -1 0 1
BN T B 221 484 225 259 -1 -2 -2 0 2 0 0 0 0 0 0
ARt TH 634 1,632 803 829 0 -5 -2 0 2 -3 3 6 0 0 0
oA\ T H 397 893 439 454 1 0 -1 0 1 0 1 1 1 1 0
IV B 508[ 1,421 711 710 -3 -5 -3 0 3 -1 6 7 -1 0 1
e anaEtl 4,622 10,780] 5,227 5,553 —7 -12 -9 2 11 -1 24 25 =2 2 4
e n—1H 345 818 410 408 -2 -6 -1 1 2 -5 0 5 0 0 0
HeEr R _ T H 945 1,985 983 1,002 -3 -6 —4 0 4 -1 5 6 -1 0 1
HHk o —TH 676| 1,432 699 733 0 —4 -1 0 1 -3 1 4 0 0 0
W N AErL 1,966 4,235] 2,092] 2,143 -5 -16 -6 1 7 -9 6 15 -1 0 1
ST a1 H 578| 1,257 622 635 -1 0 -1 1 2 0 4 4 1 1 0
ek R _TH 369 921 475 446 2 3 1 1 0 3 4 1 -1 0 1
Mk R =TH 244 532 264 268 1 -3 0 0 0 -3 2 5 0 0 0
ik L G| 517l 1,282 653 629 -1 -1 1 1 0 -2 0 2 0 0 0
msEr aaEtl 1,708 3,992 2,014 1,978 1 -1 1 3 2 -2 10 12 0 1 1
TEIT) 359 987 435 552 1 0 0 0 2 2 0 0 0 0
HOEEN— T H 168 407 192 215 2 0 0 0 2 2 0 1 1 0
HOEE T H 430 991 477 514 2 1 1 0 0 1 1 2 2 0
HoEEI =T H 683 1,731 842 889 -2 -5 -2 1 3 -3 3 6 0 0 0
HOEEAN T H 744 1,852 905 947 3 2 0 1 1 1 1 0 1 1 0
HEROH T H 409 987 495 492 0 -1 -2 0 2 1 2 1 0 0 0
HOEEIS T H 393 930 453 477 0 —4 -1 0 1 -3 1 4 0 0 0
HoEEOETH 652 1,468 718 750 2 4 -1 0 1 3 5 2 2 2 0
HOEEHOS AR 3,479 8,366 4,082| 4,284 7 2 -5 3 8 1 15 14 6 6 0
PEEE 1,508 2,967 1,382 1,585 5 9 0 1 1 8 13 5 1 1 0
FHIAR 324 697 353 344 2 5 2 3 1 3 3 0 0 0 0
EE g —T 463 976 475 501 1 2 1 2 1 0 4 4 1 1 0
EE g — T 226 476 245 231 0 1 -1 0 1 -1 2 3 3 4 1
R = T 4971 1,146 573 573 1 3 -2 0 2 1 2 1 4 4 0
TEE Py T 598 1,266 596 670 2 5 2 2 0 1 5 4 2 2 0
EEP g R T H 211 526 255 271 0 0 0 0 0 0 1 1 0 0 0
RS2 1,995 4,390 2,144 2,246 4 11 0 4 4 1 14 13 10 11 1
B RHT— T H 673l 1,423 680 743 —6 —6 2 2 0 -7 2 -1 1 2
EEIARRT T H 702 1,380 660 720 —4 -5 0 1 1 -2 6 -3 0 3
EESOARRTAE] 1,375 2,803| 1,340 1,463 -10] 11 2 3 1 -9 8 17 —4 1 5
RPN 312 858 480 378 -1 -2 0 1 1 -1 0 1 -1 0 1
WHR—TH 710 1,706 848 858 2 4 1 1 0 3 3 0 0 0 0
WOOR T H| 1,669 3,932 1,897] 2,035 5 3 2 2 0 4 12 8 -3 1 4
WHR=TH 836| 2,185| 1,060 1,125 -2 1 1 0 -3 1 4 0 0 0
HHRIT H 488 1,197 570 627 -1 -2 0 0 0 0 0 0 -2 0 2
HPREEH 3,703 9,020| 4,375 4,645 7 3 4 4 0 4 16 12 -5 1 6
HiR—TH 638 1,535 753 782 0 0 1 1 0 0 7 -1 1 2
IHR_"TH 892 2,176] 1,078] 1,098 -5 —4 -3 0 3 -3 6 2 3 1
PR =TH 456 966 505 461 1 1 0 0 0 2 1 -1 4 5
dbrpiR&E 1,986  4,677]  2,336] 2,341 —4 -3 -2 1 3 -1 13 14 0 8 8
T IROBTHT 316 783 367 416 -1 -1 0 0 0 -1 0 0 0 0
WEl 1,621 4,969 2,282 2,687 -1 —4 -5 1 6 -3 4 4 4 0
FRE— T H 782 1,831 909 922 -1 -2 1 1 0 -2 3 -1 1 2
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FYlE 1T H 701 1,835 927 908 -5 —4 -3 0 3 -2 1 3 1 3 2
MoE =1 H 632|l 1,537 761 776 -1 0 0 1 1 0 2 2 0 2 2
A EN T H 908 2,187| 1,072| 1,115 0 -1 1 2 1 5 4 0 6 6
RCENNE 597 1,404 680 724 3 —4 1 1 0 -1 3 4 —4 1 5
MAESTH 413 1,018 489 529 -1 -2 0 0 0 -1 0 1 -1 0 1
e AR 4,033 9,812] 4,838] 4,974 -4 -12 -2 4 6 -5 14 19 -5 13 18
VEPe R 526 1,125 567 558 3 3 -1 0 1 2 2 0 2 2 0
e —TH 319 683 333 350 0 -1 0 0 0 -1 1 2 0 0 0
i — T H 590/ 1,358 656 702 -3 —4 1 1 0 —4 0 4 -1 0 1
A gl 909 2,041 989| 1,052 -3 -5 1 1 0 -5 1 6 -1 0 1
E— 1 H 247 631 293 338 6 5 0 0 0 2 3 1 3 3 0
B — T H 649 1,381 662 719 —4 -1 0 2 2 0 4 4 -1 1 2
=T H 4131 1,049 532 517 -1 1 1 1 0 -2 3 5 2 2 0
EAaEtl 1,309  3,061| 1,487 1,574 1 5 1 3 2 0 10 10 4 6 2
e —TH 384 1,004 476 528 0 -1 0 0 0 -1 0 1 0 0 0
HYE T H 445 1,114 564 550 0 0 0 0 0 0 1 1 0 0 0
HHE T H 759 1,892 960 932 1 2 1 1 0 3 5 2 -2 0 2
W& T B 465 1,068 514 554 0 0 -1 0 1 1 1 0 0 0 0
B E ] H 728 1,659 823 836 -2 —4 -1 2 3 1 2 1 —4 1 5
HHIENT H 220 474 243 231 -3 -3 -2 0 2 -1 0 1 0 0 0
HESEE 3,001 7,211| 3,580 3,631 —4 -6 -3 3 6 3 9 6 -6 1 7
<HWE—TH 614f 1,423 702 721 0 —4 -2 0 2 —4 4 8 2 2 0
<HEIL—TH 724 1,532 749 783 -2 -5 0 1 1 -1 0 1 —4 0 4
SHBEIL=TH 505/ 1,144 561 583 4 8 -1 0 1 9 9 0 0 0 0
<HEWLPTH 518| 1,137 575 562 3 7 1 1 0 5 9 4 1 3 2
<O T H 340 749 409 340 2 4 1 1 0 3 3 0 0 0 0
<HWEEE 2,701 5,985 2,996 2,989 7 10 -1 3 4 12 25 13 -1 5 6
WIE AR —TH 790( 1,716 859 857 -1 -6 -1 1 2 -3 8 11 -2 7 9
WIEAR T H 4700 1,132 575 557 6 10 2 2 0 2 6 4 6 6 0
PIEARTEE 1,260 2,848] 1,434 1,414 5 4 1 3 2 -1 14 15 4 13 9
LWl E 421 798 396 402 -1 -3 1 1 0 -2 1 3 -2 0 2
ek a— T HL 1,0100 1,669 738 931 —4 -8 1 1 0 —4 6 10 -5 3 8
e T H 395 684 317 367 -6 -5 0 0 0 -8 4 12 3 3 0
kR =T H 634 1,707 798 909 1 1 0 0 0 -1 1 2 2 2 0
sk BRI H 398 835 405 430 -3 -5 0 0 0 -1 3 4 —4 0 4
o A Erl 2,437 4,895 2,258] 2,637  -12]  -17 1 1 of -14 14 28 —4 8 12
FRIREET 20 57 29 28 0 -1 0 0 0 -1 0 1 0 0 0
B 783l 1,828 891 937 3 1 2 2 0 -1 1 2 0 1 1
VEEE 273 660 319 341 -2 -1 -1 0 1 0 2 2 0 0 0
e — T H 410/ 1,087 543 544 4 3 1 1 0 -1 3 4 3 8 5
e T H 407 934 448 486 -3 -7 1 1 0 -8 1 9 0 0 0
oo B R 817|l 2,021 991 1,030 1 —4 2 2 0 -9 4 13 3 8 5
P — T H 628[ 1,341 662 679 7 18 0 0 0 10 11 1 8 8 0
P T H 5100 1,229 585 644 4 -1 1 2 5 5 0 0 0 0
Ve A a1, 138 2,570 1,247 1,323 8 22 -1 1 2 15 16 1 8 8 0
P e 284 657 324 333 -5  -13 -1 0 1 -5 1 6 -7 0 7
BEHIR 227 544 295 249 -1 0 1 1 0 -1 1 2 0 0 0




